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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.
(iii) After this verification is over, the OMR Sheet Number

should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.
Example : @ . ®
where (C) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any
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If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry original
question booklet and duplicate copy of OMR Sheet on
conclusion of examination.
Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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MANAGEMENT
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. In case a decrease in price of a 4. Indicate the correct code matching
commodity results in an increase in th? items in List — I with those in
its demand on a negatively sloping LlSt_.H as follows : )
demand curve, it is called List -1 List - II
(A) An increase in demand a. Competitive i. Variations in
(B) An increase in  quantity parity -~ 1n advertising

demanded advertising
b. Promotional ii. Advertising
(©) Law of demand elasticity of scheduling
(D) Any of the above product
c. Optimal iii. Advertising
Production function is not based on promotion expenditure
the assumption of the mix
(A) Substitutability of inputs d. Pulsing iv. Marginal
(B) Complementarity of inputs advertising equivalence of
(C) Marketability of products advertising
(D) Specificity of inputs media outlay
Codes :
Match the items of the following two A 2 b ¢ .d
lists and indicate the correct code : (B) memo T
List - I List — II B i1 von
) ) <o 1 v n i
a. Trade i. Oligopoly . . )
.2 D) iv 1 111 1
channel pricing
discounts . .
b, Tie-up sales  ii. Locational 5.  Macroeconomics basically concerns
’ p ' price with which of following in an
. . economy ?
differential
Price bei Dl f;:ren ia ls (A) Industry, Trade and Commerce
< n(r)lrfe cihg 1L rlicierfen 1 (B) Agriculture, Industry & Trade
responsive to P & (C) Employment, Inflation &
changes in Growth.
demand costs (D) Population, Income and
d. Basing-point iv. Product-line Economic Planning
pricing pricing .. .. .
Codes : 6.  The competition commission of India
) has no rule in regulating which of the
.a b C d following ?
(A) vt (A) Restrictive Trade Agreements
B) i v 1 (B) Abuse of Market Power
G i 1 v i (C) Unfair Trade Practices
D) 1 i i iv (D) Mergers and Acquisitions
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10.

The ability to understand,
communicate with, motivate and
support other people, both individually
and in groups, defines which of the
following management skills ?

(A) Hard Skills

(B) Soft Skills

(C) Conceptual Skills

(D) Political Skills

As , managers receive a
wide variety of information and serve as
the nerve centres of internal and external
information of the organization.

(A) Leaders

(B) Monitors

(C) Distribution handlers

(D) Resource allocators

‘Which one is the correct combination ?

(A) Theory of — Bernara
Conditioning
(B) Operant — B.F. Skinner
Conditioning
Theory
(C) Stimulus — Hoodman
Response
Theory
(D) Theory of — Marshall
Associates
Match the following :
List -1 List — 11
a. Evaluative i. Attitudes
statements or
judgements
concerning
objects, people or
events

b. The opinion or ii. Cognitive
belief segment of Component
an attitude

c. The emotional or iii. Affective
feeling segment Component
of an attitude

d. An intention to iv. Behavioural
behave in a component
certain way
towards someone
or something

Codes :

a b c d

(A 1 i i v

B) iv i i i

©) iv i il i

D) 1 it i iv

Paper-I11

11.

12.

13.

14.

As per Rorsach value survey, which
of the
instrumental value ?

(A) Ambitious
(B) Imagination
(C) Wise

(D) Capable

following is not an

When we judge someone on the basis
of our perception of the group to
which he or she belongs, we are
using the shortcut, called

(A) Selective Perceptive
(B) Halo effect

(C) Contrast effect

(D) Stereotyping

Performance = f (m, a, e). In this
expression ‘e’ stands for

(A) Efficiency
(B) Effectiveness
(C) Environment

(D) Entrepreneurship

Selecting a representative sample of
jobs, preparing job descriptions for
them, comparing them on the basis of
the information in the job
descriptions and placing them in
order of their perceived importance
represents which of the following job
evaluation methods ?

(A) Job grading method
(B) Job ranking method
(C) Points rating method
(D) Guide chart method
J-17-14
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15.

16.

17.

Match the following :
List -1 List - II
a. A pay plan in 1i. Elitest pay
which most system

employees are
part of the same
compensation
system.

b. A pay plan in 1. Skill based
which different pay
compensation
systems are
established for
employees or
groups at
different
organizational
levels.

c. A pay system in iii. Egalitarian
which employees pay system
are paid on the
basis of the jobs
they can do.

d. The perceived
fairness of the pay
structure within a
firm.

Codes :

a b c d

(A) 1 i1 il iv

iv. Internal
equity

@B) i i Qi v
©) i i i v
D) i i i iv

of an employee is the
process of evaluating the employee
performance of the job in terms of
the requirements of the job.
(A) Merit rating
(B) Job Evaluation
(C) Job Analysis
(D) Performance Appraisal

HRM is regarded as old wine in a
new bottle. This idea was formulated

by

(A) Armstrong
(B) Guest

(C) Storey

(D) Peter Drucker

Paper-I11

18.

19.

20.

21.

The space for every worker
employed on the factory under the
Factories Act, 1948 should be atleast
(A) 9.9 cubic metre

(B) 10.2 cubic metre

(C) 13.2 cubic metre

(D) 14.2 cubic metre

Which of the following combinations

is correct ?

(A) The practice — Job
of  replacing Hierarchy
narrowly
defined  job
descriptions
with  broader
categories  of
related jobs

B) A firm’s
decision to
pay above,
below or at the
market rate for
its jobs

(C) Groups of jobs
that are paid
within the
same pay
range

(D) A job that is
similar or
comparable in
content across
firms

Pay Grades

Pay Policy

Key job

A technique for resolving conflict in
which the parties agree to have a
neutral third party hear the dispute
and make a decision is called

(A) Negotiation

(B) Arbitration

(C) Smoothing

(D) Collective Bargaining

Identify the major actor(s) of
industrial relation, from  the
following :
(A) Employees
(B) Unions
(C) Government
(D) All of the above
J-17-14
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22. The yield to maturity of a bond is the
interest rate

(A)

(B)

©

D)

that makes the total cash flows
receivable from owning the
bond equal to the price of the
bond.

that makes the present value of
cash flows receivable from
owning the bond equal to the
price of the bond.

that makes cash  flows
receivable from the bond till
the first call equal to the face
value of the bond.

none of the above

23.

Match the correct options for the
following capital budgeting appraisal
criteria :

a.

. The

List -1

The criterion
based on the cash
flows of a limited
period.

criterion
based on profit
over life of the
project.

The criterion that
considers cash
flows over the life
of project which
considered the
time value of
money.

. The criterion that

derives the
outcomes in terms
of the rate of
return considering
the cash flows
over the life of
project with the
time value of
money.

Codes :

a b C

A) i i i
@B) i i iv
©) iii iv i
(D) iv il i

Paper-I11

List - 11
i. Internal Rate
of Return

ii. Pay-back
Method

11i. Accounting
Rate of
Return

iv. Net Present
Value

v

11

24. Match the following theories with
reference to the capital structure

25.

26.

theories :
List -1 List - II
a. Traditional i. Highly profitable
Approach companies
generally use little
debt.
b. Trade-off ii. Optimal capital
Theory structure exists
c. Packing- iii. Optimal debt-
order theory equity ratio of
profitable  firm
that has stable,
tangible assets

would be higher
than the optimal
debt-equity ratio
of  unprofitable

firm.

Codes :

a b c
(A) i ii iii
B) i il i
©) i i i1
D) i di i
Lintner Model shows that the current
dividend depends
(A) partly on current earnings and

(B)

©

D)

partly on the previous year’s
dividend.

partly on market rate of return
and partly on the expected rate
of return.

partly on current earnings and
partly on the expected rate of
return.

partly on previous year’s
dividend and partly on the
market rate of return.

“The difference between the forward
rate and the spot rate is just enough
to offset the difference between the
interest rate in the two currencies.”
This concept is known as

(A)
(B)
©
D)

Purchasing power parity
Fisher effect

Interest rate parity
International Fisher effect

J-17-14
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24.

25.
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(A) i i i

B) i i i

(©) i i i

D) i i i
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(A) ohT TIToRT T

(B) TR vvma

(C) =T T THaT

(D) 3R TR T
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27.

28.

29.

Match the following terms :

List -1 List - II
a. Forward 1. An agreement
contract between two parties
to exchange one set
of cash flows for
another
b. Futures ii. A standardized
contract contract
c. Swap iii. The seller of an
instrument  grants

the buyer the right,
but not the
obligation, to buy
or sell some asset at
a  pre-determined
price during the
specified period

d. Options iv. A tailor made
contract

Codes :

a b c d

(A 1 it i iv

B) i iv i i

©) i i iv i

(D) iv i i il

An analysis of percentage financial
statement where all the Balance
Sheet items are divided by the total
assets and all the income statement
items are divided by net sales or
revenue is known as

(A) Index Analysis

(B) Trend Analysis

(C) Ration Analysis

(D) Common size Analysis

A company collecting cash from
customers within two days and
paying to suppliers in 35 days, will
have

(A) Negative operating cycle

(B) Negative cash cycle

(C) Both (A) and (B)

(D) None of (A) or (B)

Paper-I11
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30.

31.

32.

Match the following expressions :

List -1 List - II
a. Venture 1. Emphasises  on
capital Corporate
governance
b. Private ii. Issue of securities
equity to a select group
of persons not
exceeding 49
c. Private iii. Emphasises  on
placement Management
capability
Codes :
a b c

(A) i i il

B) i il i

©) i i il

D) 1 i i

The fundamental determinant of a
person’s wants and behaviour is

(A) Perception

(B) Personality

(C) Culture

(D) Social Group

Consider the following statements :

(1)  Exclusive dealing amounts to a
restrictive agreement under the
Competition Act, 2002.

(2) The rate of growth in the
service sector in India is
highest among all the other
sectors of economy.

(3) Predatory pricing is not
regulated under any law.

(4) A company using sales force
promotion and trade promotion
is using “Pull” strategy.

Indicate the correct answer out of the

following :

(A) While statements (1) and (2)
are true, (3) and (4) are not.

(B) While statements (1) and (3)
are true, rest are not.

(C) While statement (2) is true,
others are not.

(D) All the statements are true.

J-17-14
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I Hiearsh, Ufdqerash guidr &
TTRE |

2. YR H e & qHE & °
T YaT-8F IR g A
T

3. WYENed %Ed [uaRer e
HA FRT fafared 78 € |

4, Tohg I WcaEd 9 EANR
TIeETE &1 TANT i oAl Shed
YT’ TOTAITT T T e T&T & |

fr=fafed 5 9 @& 3w 9T

(A) I (1) T4 (2) Tel &, W (3)
3T (4) T TR € |

(B) &S (1) AT (3) Wl €, 37 |l

Pe

(C) T (2) T &, g o e
TIE

(D) T eI TRl E |
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33.

34.

35.

36.

37.

Personal influence is most important
at the stage of the consumer
adoption process.
(A) Adoption

(C) Evaluation

(B) Awareness
(D) Trial

The price setting method most
closely corresponding of the concept
of product positioning is

(A) Cost-plus pricing

(B) Psychological pricing

(C) Going-rate pricing

(D) Perceived-value pricing

Use of mail, telephone and other
non-personal  contact tools  to
communicate with, or solicit a
response from, specific customers
and prospects is called

(A) Advertising

(B) Direct Marketing

(C) Sales Promotion

(D) Public Relations

marketing describes the
employees’ skills in serving the
clients.
(A) External
(B) Interactive
(C) Internal

(D) Relationship

Match the two sets of concepts :

List -1 List - II

i. Evaluation of a. Perception
Alternatives

ii. Post-purchase b. Cognitive
behaviour Dissonance

iii. Selective c. Life style
distortion

iv. Psychographic d. Expectancy-
segmentation value model

Codes :

a b c d
(A) i i i iv
B) i i iv i
(C) i 1 iv i
D) iv di il i
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38.

39.

40.

41.

42.

Which of the following determinants
of service quality is the most
important ?

(A) Empathy

(B) Reliability

(C) Responsiveness

(D) Tangibility

While developing customer loyalty

programmes, database is often not

helpful in

(A) Identifying
customers

(B) Deepening customer loyalty

(C) Avoiding serious customer
mistakes

(D) Creating consumer associations

prospective

The problem caused by a redundant

constraint is that

(A) the problem shall have no
feasible solution.

(B) the problem shall
bounded solution.

(C) the redundant constraint can
never be satisfied.

(D) none of the above.

have a

The wupper control limit for an
R-chart is

(A) RD;

(B) RD,

(C) R(1+3dy/(dy\n))

(D) X+A,R

A company uses rivets at a rate of
15,000 kg per year, rivets costing I 6
per kg. If the cost of placing an order
is ¥ 60 and the carrying cost of the
inventory is 30 percent per annum,
the Economic Order Quality will be
(A) 1000 x~/2 kg

(B) 1000 kg

(C) 100~/10 kg
(D) 200+/5 kg
J-17-14



33.

34.

3s.

36.

37.

STIERAT STRIOT Uik i fohe efaree
H JTerieh TTe Tl Hewaqul € ?
(A) 3TTERIOT

(B) SR

(C) TeaHA

(D)  TRITT (ZrFe)

Saarg ferfqeor @ MHeedq e @
T el Had HuRoT fafy B d@F & 2
(A) TANTANR g HErRoT

(B) TG A HoT

(C) TTe]-3T Shima FeRoT

(D) SY-Hed Higd LR

AT AT AT TMEehl | TAR A a1
ST IR UM & AU B, el
Tl 37 Treaioer Treh WAt o TEnT
I T FEd & 2

(A) Tasmo &

(B) WgeT fauue

(C) Tosha Gad=

(D) SH-9WEH

o9, UTeshl 1 QT TS
T HHEINET o Il T S0 T & |

SRS o 3T T Tl FRIAT T :
= - 11

%l a. GROUM

e -1
i. foepeai
Todish
ii. AR b.
IR forgantear
iii. =aFd faemor ¢, e S
i . TR o
e

TIHTHE

a b c d
(A) i ii i iv
B) i i iv i
(©C) i i iv i
(D) iv il i i
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38.

39.

40.

41.

42.

T T[T H FEfeiEd § 9
freRer afus Hewaqol ¢ 2

(A) T

(B) Torwerg=aar

(C) ITfsRaTeehar

(D)

Uesh =T HEshAT T foepad
T, IgHT SIEY (At § & ey
TR el Bl ?

(A) T UTeehi &l Tea |

(B) e e i Mo o= |

(C) TR UEs TAar 1 TNER

T
(D) ST 9 Tied HAT |

AR (AT WeR) AT FRT 3

@€

(A) ;nwwaﬁ%mmﬁwwﬁ

|

(B) U HI UREF & 1 |

(C) AaeE 3feRiy Ff ot T et
fopar ST AT € |

(D) Sude | W HIE Tl

R-TE o ford 3 Foeiaror | &
(A) RD;

(B) RD,

(C) R(1+3dy/(dy\n))
(D) X+A,R

T FHIAT U a9 15000 kg P ST H
el @ #ieh) 1 STET Har & |
feaet &1 g\ ufd kg T 6 € | A 3T
3 B AN T 60 & 3T Wl t o
AN wiq o 30 Ui @ €, ar 3w
TS /T B

(A) 1000 x~/2 kg

(B) 1000 kg

(©)  100~/10 kg

(D) 200+/5 kg
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43.

44.

45.

The arrival rate of customers at a
service window of a cinema hall
follows a probability distribution
with a mean rate of 45 per hour. If
the service rate of the clerk follows
Poisson distribution, with a mean of
60 per hours, what is the probability
of having no customer in the system ?

(A) 0.75 (B) 0.60
(C) 0.25 (D) 0.45

From which of the following can
retailers immediately determine, how
many packets they should stock each
day to maximize the profit ?

(i) Expected profit from each
stocking action
(i1) Expected loss from each

stocking action.
(i1i1)) Conditional-profit table
Codes :
(A) (), (i1) and (iii)
(B) (1) and (ii)
(C) (i) and (iii)
(D) (1) and (iii)

(1) In PERT, it is assumed that the
activity times follow the beta
distribution.

(i1) In CPM, two time and cost

estimates are made for each

activity, which are called the
optimistic ~and  pessimistic
estimates.

Time is the only variable used

in PERT.

While in PERT the emphasis is

on event, in CPM the emphasis

is on activity.

(A) All of the above are true.

(B) While (i) and (ii) are false, (iii)
and (iv) are true.

(C) Only (i), (iii) and (iv) are true.

(D) All the above are false.

(iii)
(iv)
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46.

47.

48.

If a=4 and b = 2 for a particular
estimating line with one independent
variable, and the value of the
independent variable is 2, what will
be the value of the dependent
variable ?

A) -1
B) 0
©) 8
(D) 10

For estimating an equation to be a

perfect estimator of the dependent

variable, which of the following is

true ?

(i) The standard error of the
estimate is zero.

(i1) All the data points are on the
regression line.

The co-efficient of determination
is (—1).

Codes :

(A) (1) and (i1) only

(B) (ii) and (iii) only

(C) (1) and (iii) only

(D) (1), (1) and (iii)

(ii1)

The ‘F’ ratio contains :

i) Two estimates of the
population variance

(i) Two estimates of  the
population mean

(iii)

One estimate of the population
mean and one estimate of the
population variance

Codes :

(A) (), (i1) and (iii)
(B) (i) and (ii)

(C) (i) only

(D) (iii) only
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43.

44.

45.

far & wt ger faee (Service
Window) T TT&hl St STRTAA I UfdT 52T
45 H NET W F WS WGhar s
AR ¥ | AT Tt ot el 5T Ui HeT
60 % TTF & WY W ST BT I
FAT €, AT B Wesh 7 & i TIrehar
T B 2
(A) 0.75
© 025

(B) 0.60
(D) 0.45

fr=fefaa o 9 foad gga &Rt =
77 fuiftd w @d & fo o @
AP HH & o I UE o
fohe Yehal ot YR H TET ed ?

(i) U YEROT AT ¥ TR o
(i) T YR fohar § vt e
(ill) TAUaeY-E dTfeTeht

HS

(A) (i), (if) 3R (iii)

(B) (i) &R (ii)

(C) (i) 3 (iii)

(D) (i) ¥R (i)

() U (@A) G, Tg 7E A
o Tidary 9ug e sed H
ST FAT T |

(ii) CPM H, § 99T Ud oNTd FHH

T Tidtery & ferd FivE

T €, ST Semanst qen FRTeTemat

3 HEeTd & |

T THAE W g NEE 7 "

ITAT fopar ST € |

et T¢ ¥ S AT W e €,

CPM ¥ SR Tfafafy @ e & |

(A) SHFH TN FAE |

(B) (i) 3 (ii) 3G €, (iii) 3 (iv)
TIE |

(C) e (i), (iii) 3 (iv) FFE |

(D) U T A & |

(ii1)

(iv)
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46.

47.

48.

T TH WaT W F G TS Ry
AT W@ H W a =4 A b =2 & TE
A W) H god 2 €, df ST =) A
e T 8T 2

A) -1

(B) 0

C 8

(D) 10

ot THieReor Bt ST WX S gl
3EH B % fou fefeafad § &
TE T2

(i)  SFHH HI °EE JfE A A |

(i) @ 3fipel & fog wfamH= W1 W

Il

(iii) e T TN (—1) ¥ |
T#ﬁ%‘:
(A)

(B) e (ii) T (iii)

Ha (i) TAT (ii)

(C) A (i) T (iii)
(D) (), (i) T4 (iii)

‘TH 3TUIT H fafea &% -

(i)  STEET TEI0T % S 3T HH
(i) ST 7 & S STHE
(ili) SHEEA °TE H TH FHAE AT
STEEAT TEROT 1 Ueh STHH
HIE
(A)
(B) (1) 7 (i)
(C) e (i)
(D) e (iii)

(1), (ii) =& (iii)
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49.

50.

From the following statements,
identify the correct answer :
Statement I : The chi-square and
‘" distributions are always
symmetrical distributions.
Statement Il : If we have Ilarge
enough sample sizes, the
assumption that “the samples
are drawn from a normal

population” can be discarded

with ANOVA testing.

Codes :

(A) Both the Statements I and II are
correct.

(B) Statement 1 is
Statement II is wrong.

correct, but

(C) Statement II is correct, but
Statement I is wrong.
(D) Both the Statements I and II are

wrong.

Arrange the following steps involved

in  the ‘information system
development cycle’ in the ascending
order :

(1) Installation of the system

(i1) Operations of the system

(iii)) Definition and objectives of the
system

(iv) Review and evaluation

(v) Development of the system
Codes :

(A) (@, (D), (v), (v), (i1)

B)  (id), (1), (v), (1), (1v)

©) (), (), (1), (iv), (i1)

D) (i), (v), @), (i), (iv)
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S1.

52,

53.

Match the items given in List — I with
the most suitable items in List —II :

List - I List — 11
a. Wireless i. Ring
networking
b. Network ii. Infrared
devices
c. Network iii. Network
models Repeater
d. Network iv. TCP/IP
Topology 4 layered
protocol
Codes :

(A) i i i v
B) iv Qi il i
©) i i v i

(D) i iv i i

Which one is not the item to be
necessarily included in the report on
Corporate Governance in the Annual
Report of listed companies ?

(A) Board of Directors

(B) Audit Committee

(C) Shareholders’ Committee
(D) All of the above

According to the BCG matrix, and

given your knowledge of the
technological environment, a
business unit that manufactures

typewriters would be an example of a
(A) Cash cow

(B) Dog
(©) Question mark
(D) Star
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49.

50.

frefefad Yot @ @&l 3T &1 aadr
[RIIEL

affpeR L HE WO 9 f
fereror wee wofad faavor e € |

Afirper 11 : 7S R U Ufaael SR
¢ ¥, 30 4non i o6 ufEE
I SHEEn 9 forr T g
THET (T T A Al U) e §R
Sfesha ferar ST FeheT € |

HE
(A)  Teper [ e 11 1 Fel & |

(B) 31 1 Wl €, W= TR
[T e |

(C) e 11 W& &, W ST
[T T |

(D) rfeher 1 & 11 ST T € |

o voTedt o g EwmYE fawen
TS WEfR) H e Frefaraa
=ROT I AR 58 | A HIT ;
(i)  ToTet Ao

(i) WO St HisHATT

(iil) WO I GRS T SRE

(iv) eI qe Jodis

(v) woTel S o

HE

(A i i ovooiv i

B) ii i v i v

© v i i v i

D) iii v i i v
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51.

52.

53.

g1 # & T AT B gL § S e
ST HE G hifTT ;
| =i - 11
a. aEReAd i. R
EECicall
b. “eas fearzd ii. RS

c. Fas Higed iii. Hedeh 4T

d. “eas iv. g
Tttt M, 4 TS
PICEAR
S :

a b c d
(A) i i i iv
B) iv i i i
©) i il v i

(D) i iv i i

Yeiag Ml & o ufdesT § 5
T FORE I F ufdesd #
frfafed & @ &9 @ #% AT
e &l & ST 2

(A) T qUSA

(B) oi@El-ulieT @t

(C) VERYRE Qi

(D) ST wHt

S ST, S & AR SR Wi
ATAEROT o S | 210 T €8 8F |,
% OIS THE A TRE
fafmior et & Fetatea 5 9 e
/TR & 2
(A) 9T HT3T
(B) =
(C) e e
(D) R (AR
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54.

5S.

56.

Assertion (A) : Vertical integration

is considered as a growth
strategy because the firms
operations  are  expanded

beyond primary business.
Reasoning (R) : Vertical integration is
the mixed empirical result to
ascertain whether the strategy
helps or hinders the performances.
Codes :
(A) Both (A) and (R) are correct,
and (R) is the right explanation

of (A).

(B) Both (A) and (R) are correct,
but (R) is not the right
explanation of (A).

(C©) (A) is correct, but (R) is not
correct.

(D) (R) is correct, but (A) is not
correct.

In the context of strategic

management, a stakeholder can be
defined as :

(A) An individual or a group have
financial interest in the
organisation.

An external individual or a
group that is able to impose
constraints on the organisation.
An internal group or individual
that is able to influence
strategic  direction of the
organisation.

An individual or group with an
interest in the organizations
activities and who seeks to
influence them.

What are the stages 2, 3 and 4 of the

active strategic process ?

(A) Generate process, select
strategy, implement strategy

(B)

©

D)

(B) Strategy selection, strategy
implementation, strategy
control

(C) Deliberate strategy, emergent
strategy, realized strategy

(D) Appraisal of strength and
weaknesses, choice of strategic
direction, strategic
implementation
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57.

58.

59.

60.

The first step in the development of a
business mission is

(A) aSWOT analysis
(B) Goal formulation

(C) Marketing Research
(D) Strategy Formulation

At which level in the company
should market oriented strategic
planning begin ?

(A)
(B)
©
(D)

Corporate level

Functional level

Marketing department level
Strategic business limit

Which of the following technique
stimulates people to greater creativity
by meeting with others and
participating in organised group
experiences ?

(A) Brain writing

(B) Gordon method

(C) Brain storming session

(D) Big-dream approach

Match the following :
List -1 List - II
(Types of (Features)
Qualities)
a. Physical 1. Sharp memory
b. Ethical ii. Coordinator
c. Social iii. Personality
d. Mental iv. Character
Codes :

a b c d
(A i i i v
B) i1 iv il i
©) i i iv i
(D) i1 iv i it
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54.

5S.

6.

AfHUA (A) : SRATHR THHOT i
Yofg i wHfa qHen S €
iR T & Y M ZaqT
AR TERT el ™ E |

HIT (R) : FRATHR THIHIOT, TE
I e & fog T wEifa
=T & WeEdr &l € A
Y IO HAl §, THEd

T TRoTe € |

(A) 3R (R) THT ¥l € 37 (R),

(A) S T&l AT E |

(B) (A) 3 (R) 3HT Wl & =g (R),
(A) ! HEl AT Tl § |

(C) (A) W& e =] (R) W&l &l ¢ |

(D) (R) T& & R (A) T&T T&l ¢ |

THEITE T & T<_Y W, TR i

e o femam ST Hepa €

(A) T ° ToiE e W@ ol /
el AT AT TR

(B) e Al a1 AT S WA W
HieRIY & Wbl € |

(C) oT=iN® Tge a1 AR ST G

i I f5om & wfad &

T E |

e AT WS ST WA &l

Tiafafat o e wEdrEd

A A 3R Weiferd A AT

HIAT &/ € |

HES
(A)

D)

[lshT IO UIshAT i AT 2, 3

AT 4FME?

(A) ifsHar GRS AT, T =2,
ToTHITG =T shaTea

(B) Mg & wE, IO
TShaTaa, YOI o FHE=or

(C) goama  WHIM, s
TUTHITT, SHrTTed Yo

(D) VIR TE HHSINET T Hoish,
oI 2 1 Toehed, TomiTaes
[ERIERE]
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57.

58.

59.

60.

Fediiges AN & foeha § wge w5q
3

(A) w@ie fagemor
(B) e T
(C) oo vy
(D) oI 1 fmTor

FO H TNIR @ WHIe e
FE T I YR BT e 2

(A) HRURT TR

(B) HETHE TR

(C) TouuM faum @

(D) UM FIAT THE

fr=fefaa & @ o o= o 9 foem
TE ST Qe Swal § A o %
gRT AT ol 3= GoHTIHshar T Sela
FIAT T ?

(A) HResh @

(B) e fafy

(C) umfesh fae o

(D) Teg W ST

AT S GHf T

e -1 =i - 11
(TTOTH o W) (Faferezam)
a. YRR® i. o g
b. Afdw ii. wEaEE
c. QIS iii. =AfRTA
d. AHfEs iv. =t
S

a b c d
(A) i i il v
(B) iii iv i i
© i i iv i
D) ii v i i
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61.

62.

63.

64.

Which of the following Bill was

introduced in the Lok Sabha in 1985,

with the objective to make a special

provision to secure timely detection

of sick and potentially sick

companies and for setting up a board

of experts for speedy determination

of the preventive ameliorative and

remedial measures ?

(A) The Industrial Reconstruction
Bank of India Bill

(B) NABARD Bill

(C) The Sick Industrial Companies
(special provisions) Bill

(D) None of the above

Indicate the person who is considered
as pioneer in the herbal beauty care
in India and has achieved
unprecedented international acclaim
for her application of Ayurveda (the
ancient Indian ‘Science of Life’
based on herbal remedies) in
cosmetology and trichology :

(A) Sumati Morarji

(B) Shahnaz Hussain

(C) Yamutai Kirloskar

(D) Neena Malhotra

Which of the following items is not

included in project cost estimation of

a new business ?

(A) Preference Dividend

(B) Margin money for working
capital

(C) Anticipated initial losses

(D) Pre-operative expenses

Which of the following is the main

function of State Financial Corporations ?

(A) Provide short-term finance to
large-sized industrial units

(B) Provide long-term finance to
small and medium sized
industrial units.

(C) Undertake variety of
promotional activities, like
preparation  of  feasibility
reports, conducting industrial
potential surveys, etc.

(D) Develop industrial estates for
providing land to a building
Entrepreneurs.

Paper-I11

65.

66.

67.

68.

Which one of them was not a
Corporate Fraud ?

(A) Satyam Case

(B) Abdul Karim Telgi case
(C) Saradha Chit Fund

(D) Ketan Parikh

The first social audit in India to
evaluate role and success of company
moral

towards responsibility  of

employees conducted by
(A) Birla Group (BALCO)

(B) Wipro
(C) Infosys
(D) TISCO
SEBI asked entire group “A”

companies to submit a corporate
governance report in addition to their
annual reports from the date :

(A) April 1,2001
(B) April 1, 2000
(C) January 13, 2006
(D) April 1, 2008

The practice of willingly hiding

relevant  information by being
secretive and deceitful known as

, occur when organization
punishes individual who is open and
honest and rewards the one who has

unethical behaviour.
(A) ‘Window Dressing’
(B) ‘Counter Norms’
(C) ‘Stone-walling’
(D) None of the above
J-17-14



61.

62.

63.

64.

frfefad & @ % a1 fagas e T

H W 1985 H, T T GUA U

A & GEEET o % ol

ToRISRTT o T OIS I TAT T WTae

T & LT W IR TR AT 2

(A) YRAE SRS RE o
IELRED

(B) &S fagas

(C) U 3=nNfeh i (faei-
TTaY) faeses

(D) SUIH | I HIE T

g aRaed ¥ Wigd WS & 8F o
S Ff & ITET e e ue
¢ Wigd dqar &9 fome & &F o
AT 3 ST 3 For S TR W
3NAY UTTg U §E &, ST AT Far
(A) gAT ARRST

(B) V& g4

T TG % GRS AN e

T fafated 9 9 59 gmfae 71 fear

ST E 2

(A) ST ST

(B) RNt STt & Torat wifst o+t (3
BT T &)

(C) 3T STRMETH i

(D) YA-TATeTHS

Fefafea 0 9 591 159 fom i o

T & & 2

(A) <EeR Sl swEa
SACIHIA Tord TR BT |

(B) ©Tg UG HeAW SRl IHEAT h
eI fard UeM LT |

(C) arfeoesdr et e, efenfire
TAEAT FATT S8 foewor &
FHET |

(D) -Enia SefhEt = g 3 % o
Arenfires forea = fFHior e |

J-17-14

21

65.

66.

67.

68.

fr=fefaa # | P9 |1 HRUNS €@ &t
o 2

(A) TIH HHAT

(B) 3TsgeT SHIW STl HIHAT

(C) VIR foe %e

(D) ad U@

HHEINET i Afceh STHERT & Ufd e
St ST TAT THAT I JoAhT HH
% o R | vy GrHETSTeh oEr qieqor
Torees gRT Tomam T o 2

(A) forteT wge (<o)

(B) fast

(C) T

(D) few=nt

Tt ¥ g YT ‘A’ A RSO
e Ufdaet & effaie f=fatad
fafr ¥ SRURT I Ufqas STHT M
% o/ FRT €

(A) 3T 1, 2001
(B) 3T 1, 2000
(C) SHeRI 13, 2006
(D) 3T 1, 2008

ST T H UY AT i ST A1 (5ot
3R TR & S8 fear Sin € ok g
R 1 FTER 3P & 3T TEpd
e ST & dF T 9 W MO U
FHISYUT TR AT a1 i B &t
T 30 el €, e Fetetad e
S g

(A) fags R

(B) Wid OHH

(C) wF-aferT

(D) SUgH § F HIE Tl
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69.

70.

71.

72.

Corporate Governance Committee
appointed on May 7, 1999 was
headed by

(A) Aditya Birla

(B) Kumar Mangalam Birla
(C) Rajendar Sachar

(D) J.S. Mehta

The term ‘Corporate Governance’
comes closest to

(A) Corporate Management
(B) Corporate Administration
(C) Corporate Planning

(D) Corporate System

The highest amount of FDI in India
comes from

(A) Japan

(B) U.S.A.
(C) Indonesia
(D) Mauritius

‘Free trade’ means

(1) Opening different sectors for
the FDI in flow

(i) greater competition which, in
turn, enhances efficiency

(ii1)) Development of new industries

(iv) Incentives for Imports and
Exports

Codes :

(A) All (i), (ii), (iii) and (iv)
(B) Both (i) and (ii)

(C) Only (i1)

(D) Only (i)

73.

74.

75.
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Statement I ‘Free trade’ leads to
specialisation and thereby to
increased output.

Statement II : Import restrictions
are both long term and short
term measures of balances of
payment adjustments.

Codes :

(A) Statement I is true, but II is
false.

(B) Statement II is true, but I is
false.

(C) Both the statements I and II are
false.

(D) Both the statements I and II are
true.

In terms of the increasing
competitions, among the MNCs, rank
the followings in the ascending order :
(1)  Mobile Technology

(i) Business Intelligence

(ii1)) Cloud Computing

@iv) Social Media

(A) (), (1), (ii1) and (iv)

(B) (iv), (iii), (ii) and (i)

(C) (v), (1), (i) and (iii)

(D) (i), (i), (iv) and (iii)

Statement I ‘Trade creation’
and ‘Trade Diversion’ both,
have welfare implications.

Statement Il : Regional partners
should be competitive, and not
complementary, for the
purpose of the most efficient
use of economic resources
within a Customs Union.

Codes :

(A) Statement I 1is true, but
statement II is false.
(B) Statement II is true, but

statement I is false.

(C) Both the statements I and II are
true.

(D) Both the statements I and II are
false.
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69.

70.

71.

72.

HRARS IMET IHfT T 9 7, 1999 HI
e & Mg ot @ eremerar fepe @
o 9

(A) e forer
(B) HHR HTeTH forett
(C) TSI AR
(D) S.Ug. Hed

‘PRARS T H U5 fhash qaitas
T TS § 2

(A) SRURE Jae

(B) HRURT TR

(C) ®RURE =

(D) SRURE FaeT

ORA § U S1.37E. &l Seadd A el 9
T E 2

(A) A

(B) Fwam
(C) EeHfRmEr
(D) HRITeT

Yo (TTe5ws) SR H 37 &

(i) URSLIME IqaE & fod f=
&1 < IMTH LT

(i) Jes UfaFiTer st {6 eToan st
Fert & |

(i) & ST o faehr

(iv) Tt ud fardr & o uieas

(A) (@), (ii), (i), (iv) Tt
B) (i) R (i) T

(C) = (i)

(D) = (i)
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73.

74.

75.

FUA ] TS AN AT S
3R Ugd T & 31X T TR |
algd ST BN 3T UG Bl
g

Foa 11 : T Afaey, JaE Sqed
TESE % SEHiA® TS
FTIHITCAD T ST & |

S

(A) HF | T &, T A 11 3T
g

(B) T Il §F ¢, W] H2H [ 310
g

(C) w1 3R I THl @I T |

(D) FFIARNIN T E |

TR HTAT & S el gg Wl &
e 4 feEfefaa & el w9 9
T HIT

i.  HiaTEe dEnfTe

ii. foomg Rfeeig

iii. IS HAR

iv. |ee Hitear

(A) 1 S VI I L2 | I Y

B) 1iv i 99m o1

(©) iv i i 99 iii

(D) i i Qv 99 iii

FoF [ : AR H oA’ AR AR
fowiaeor A % SHedToreRt
HiTar g € |

FoA 11 : TH-Ioh T & ] H
T & et < SUAT &
o, et WeRRi 6l wfaarh g
e 3R ek el |

Ay

(A) T | 9 €, W] F2 11 319
T

(B) o Il 9 €, W] FU | 319
g

(C) 13RI FHITAC |

(D) 1 31711 ST o 3T € |
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